Math201.10, Quiz #1, Term 181
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1. [3 points] Find a Cartesian equation for the parametric curve and
sketch it indicating with arrows the direction on the curve as t
increases:

x = 2 + tant, y =1 - 2sect, =Rl
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2. [3 points] Find the slope of the tangent line to the polar curve r =

2cos(§) at the point corresponding to 8 = %

3. [4 points] Let R be the region inside the circle = 2 and outside the
circle r = 4sin#. Sketch the region R and find its area.

Good luck,
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Math201.15, Quiz #1, Term 181

Name: .
Sc‘,l U\—h\"q,.;/
ID#: Serial #:

1. [3 points] Find a Cartesian equation for the parametric curve and

sketch it indicating with arrows the direction on the curve as t
increases:

[
x = 2 + sint, y =1+ 2cost, EStSZn.

2. [3 points] Find an equation for the tangent line to the following
parametric curve at the point correspondingto t = 1:

x=1-Int, y=t+t2

3. [4 points] Let R be the region inside the lemniscate r? = 2sin(26)
and outside the circle r = 1. Sketch the region R and find its area.
Good luck,

Ibrahim Al-Rasasi
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